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o AL 2 UL, 10 GERHE, B3R 125 4
o FARBOAESTF AL, AETEER AR

o PrA WA S BB, FERRE AR AR, AR B eI E5E, RO
SEERIERT I A & BT U -

DRI h Q A BN, R HSKUS, C 1AM, Z s, X% p, 1T F, = Z/pZ
H p ATEEALRIGE,

1 (10 43). 48T p=5,7, wE Ql/p] ERKX5E a? — 1 IR 4538,

W2 (10 4). Bk K & o' —2 & Q ey 30K, #1F K/Q A % VA Pk, #5 FHAN PN
BAAERAL (R—F 2B RRAL), MR ER.

3 (10 4y). A F Q Leyv R AT S AKX f(x), BRETHR o =a+0/=1,a,b € R, ¥HH
a,b RATIE, #wRt f £ Q Laylm¥ KA TG, JFHe RAXLHFEH., o FTHE—FT
AR IR A — A Ry f(x).

B4 (20 4)). R4 T $AXE F L2 K 9 ¥ BB Gal(K/F)., (3hBaR), k53
Ne Ity FIRBR MR A TR AMRATF X E,)

1. flz)=a%—1, F=F,

2 f)=2"—2—1,F=Q

3. fz) = (22— 6)(a® —8), F=Q
b f(x)=aP —x—t, F=F,1)

B 5 (10 4y). % char(F) =0, B 2" —1 &£ F 25 % (B F 284 n kA KREIEK) . 1£0
" —a € Fla] T AT H 4o 2™ — b € Fla].
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@6(10&:}’) ’Wri ZC)Z *t1$4+f2$3*t3$2+t4$*t5EF(tl,"‘,t5)[1’],—;ﬂ\;cfj t1,"'7t5 %*E
o MBIE fz) BHFIR L FHIRA 21, 5. &

Q= 21T + ToT3 + T3T4 + T4T5 + T521,

6 = T1x3 + 21204 + X214 + Tols + I3T5.
1E A

1. Dy = {1,(12345), (13524), (14253), (15432), (12)(35), (13)(45), (14)(23), (15)(24), (25)(34)
}=((12345), (12)(35)) /=& K 458F As 04T fFT 3%,

2. a—pBeLPs;

3k FysteERA 2. R [K(a-p): K|, ¥ K=F(t,---,t5, /D(f)),D(f) = f(z) &9
FAFIEW

BT (15 47). &3 K Fo L 23R F 9RRY K. iR E & K o L 690 %y 3K, it KL E ¥
4 K Fo L 8950 a9 T3k

1. 388 KL & F YRy %K.,
2. B35 K & F o9 B33k, 28 KL 1A F ke R M E R T E o925,
S MBIk K #= L & F 84 Galois I3k, 28] KL & F 84 Galois 5K,

4. 8% K 4o L 2 F &9 Galois 3%, B Gal(K /F) 4o Gal(L/F) 482 F 1 7 # 328 Gal(KL/F)
A TN REE

8 (10 43). Bk K/F & —A Galois 73k, H Gal(K/F) = S,. £ K & —ANx¥EEFT n
4% AKX f(z) € Fla] h 530K,

B9 (154). 1 A p ABRREHK, Bk F ABHEFTRAR, LHLEZTNARY K K/F,
WA p|[K : F). iEREZEMGEF AR K K/F, [K: F] & p 89k F.

2. ¥ LR S 0 EF TR —AFE, SR FIRAES ? SR EAHFIEN, wRTE
H, HERB

810 (15 43). 183 f(z) € Qo] A —AZKHRTH S AKX, 4ok f(o) RRX TG, iE9 f(z)
WMARK D> 00 b D =giges(m —2;)% w175 & flo) AR, (-7 RIBTAEHA
89 Galois B3tiT 5 K3Ti6, 2A T H )
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